D6 FEMFEVU D

sl EFHH

2B B2HA
w2 - 3K

(10R6H(A) @Eo&Eo2&Ta—JLRMF AAMIN13:19 #T15:42 Sk 205/1239)
(k&) AH(BI¥0B) [—2%] RAGRAOB) [Z82%] tR(MAOB) [Z82H] RRE(AA4IEE)
BAIRTF KA (1B 180
BRI F - 18 (0B51ED)

- 2 el AN t AN h R

VA ;] 0/0|0|0(0|0|0|2]| 2
b liw N 1/0/1/0/{0(0|0|1|x]| 3
<BEEF>
BATOMAHE D TEE AN EFI L. 3EEABESRDOTAZFEHL
-

ITA(SHIEL BSH(3 - BAILS)DARR_ 2T EZET—E=
ETDE HB<K=AR(2 - BIEHR)DBEIFREF LT TLRERI T D,
3EIC(E. —FE—. =2DIFHENS, KLE(4 - B TAEH)DE
RTIFUENMNT Do

=5(C8Bl. BHEOARE 2] T 2L DE. =ARODEH]
B TIRERS L. RETRDI,

®IFTE RE(4 - BRFIIRL )N PHRETIFRZRE. SV

FzZzETT,
UEn(FOMIC1IRE(CFEDTDIEHhE—ALT . EU.
SN VA1)
® F KR KH B BXR [EE. =B B, R
W F |[KE plIES2e!
AREF]
=847
247 BHE2. =K EEE
% 11 | KE. BN )3
H #= 1
% £ 5 6
= 2  |BsHE2
X R |BH B6R 1)
&= %
ok

[5] 2 (1 I5B8) a 1| o 1l o

5 %ZH (4 BR) Of Of 0 0Of O




[4] fEsH (3 BAXALE3) 4 2| 0 0O O
[3] = (2 FE1E*T) 4 3| 21 0 O
[2] KE (4 BHIKX®R) 31 o 1 1 O
[7]18 St (4 FRE5E) 3] O O 1] 1
[8]9 BabkE (4 BRIFHR) 3] 1 O 1 O
[6] FRAt (1 HREFEX) 2l 0 O 0O O
[9] P £ (3 HREFEX) 3] O O 2 O
7 F¥r (3 KPtREEZ) O O O 0O O
[1] = (2 FFANIER) 2l 0O O 0O O
1 K< H (4 BFEHFIERL) Of of of 0 O
1 aH (4 EEFERE) 1] O 0 1 O
1 FaA (4 BEBATR) of of of 0 O
5t 291 71 3 7| 1
43 423 61| 18| 6/2/0/0
&<H 113 24| 5| 1/0/0(0
af |23 30 9| 3/1/0/0
[izk:N 1/ 10| 3| 0[1/0|0
5 9|125| 35(10|4{ 0|0

[7] =R (2 SIGEETFA) a 1] o 1| o
[6] 5% (2 FIZHBA) 3l of o ol o
[5] FA (4 L) al 1l ol of o
[8] 1A (4 BIE2E) al 3 o 1] o
[9] 257 (2 I REEFE 4 1 0 0| O
R Be (2 &R) ol of of o o
[3] £97E (4 SIHEEFA) a 1l ol of o
[4] A (1 MZ6pEEFR) 4 1| 0 O O
[2] N (3 FERAHER) 3l 1| o o| o
H G (4 FERAHE) 1l ol of 1f o
[1] 1 (2 FE) 1] ol o 1| o
1 RAW (4 5REZEE) 1 1/ 0O 0| O
H 597 (4 YIEEE) 1l ol of of o
1 AT (3 EZERAT) 0O 0 O O O
1 i (4 SIHEEFA ol of of of o

34| 10| o 4| o

AR 4( 38| 11{0/4/0(0



HE#F |01 11| 3[2/0{0[1
s |03 8 2/0[1]/0|0
B 8(123| 32|7/7/1|3

MfmFAEGERE KANSAIL BIG 6



